viisi murto -osaa, toimintojen jarjestys suluilla

B—2) 3 5+2
3 2_32 22:
(Z ) Z(§_+(§))

Paivimaara: Pisteet:

b 3y 1 2 1p
GP-Px5-G3

301, 2.1 1
-V +(——2)=
G~ 9773673

1 1, 13 1
—t+ o)+ (2 + )=
SR AAC Y
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viisi murto -osaa, toimintojen jarjestys suluilla

Nimi:

GrNx -+ =)
@3- xS 2 =1 = 182
B- 3P -3 xS =)= (90
Cral-2G+CN-2

Paitvamaara: Pisteet:
1 1 5 11 1 13
—t Yo (=t )= —
(3 2) 2(2 6) 36
2 1 2 1 62 17
G+l -=G-5)= =1
3 2 65 2 5 45

l, 3.1 2 1, 2543
937677 = Cioson
3 1, 21 1 689
—— )+ (== =)= ——
(4 5) 3(6 3) 3600
1 1, 1.3 1. 11
—+ )+ (=+ )= —
(5 6) 6(2 3) 25
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